INTERMEDIATE EXAMINATION — 2022 (ANNUAL)| 105 /205
ENGLISH (Model Set)
.Sc. & I.Com. — ENGLISH (Compulsory)

Time : 3 Hours 15 Minutes Full Marks :- 100

Instructions to the candidates :-

1.

Candidates must enter his/her Question Booklet Serial No. (10 Digits)
in the OMR Answer Sheet.

Candidates are required to give answers in their own words as far as
practicable.

Figures in the right hand margin indicate full marks.

15 minutes of extra time has been allotted for the candidates to read
the questions carefully.

This question booklet is divided into two sections — Section-A and
Section-B.

In Section-A, there are 100 Objective Type Questions, out of which
any 50 questions are to be answered. If more than 50 questions are
answered, only the first 50 will be evaluated. Each question carries 1
mark. Darken the circle with blue/black ball pen against the correct
option on OMR Answer Sheet provided to you. Do not use whitener /
liquid / blade / nail etc. on OMR Answer Sheet, otherwise the result
will be invalid.

In Section-B, there are 7 Descriptive Type Questions. While
answering the questions, candidates should adhere to the word limit
as far as practicable.

Use of any electronic appliances is strictly prohibited.



SECTION - A

Objective Type Questions

Question No. 1 to 100 have four options, out of which only one is correct.

You have to mark your selected option on the OMR Sheet. You have to

attempt only 50 questions. 50x1=50

1.

The snake was killed by Rohit.

(Choose the correct active voice)

(A) Ronhit killed the snake.

(B) Rohit is killing the snake.

(C) Rohit has to kill the snake.

(D) Rohit should have killed the snake.
............... you spare a few minutes for me ?

(Choose the best auxiliary verb)

(A) Should (B) Could
(C) Must (D) May
Mr. Sinha often ............... to Delhi on business trips.

(Choose the correct tense form)

(A) is going (B) has gone

(C) goes (D) has been going
He asked me where the book was ?

(Choose the correct direct narration)
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(A) He says to me, “Where is the book ?”

(B) He was saying, “Where is the book ?”

(C) He said to me, “Where is the book ?”

(D) He was saying, “Where is the book ?”
Rajesh ............... a car last year.

(Choose the correct tense form)

(A) buy (B) bought
(C) buying (D) will buy
My shoes were so tight that | could hardly walk.
(Choose the correct meaning of the underlined word)
(A) loose (B) close-fitting
(C) slack (D) relaxed
Choose the correct sentence :

(A) My sister is the poet and the philosopher.
(B) My sister is a poet and the philosopher.

(C) My sister is a poet and a philosopher.

(D) My sister is a poet and philosopher.

This is the letter. Sohan wrote it .

(Choose the correct combination)

(A) This is the letter which Sohan wrote.

(B) This is letter by which Sohan wrote.

(C) Sohan is the one who wrote this letter.
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10.

11.

12.

13.

14.

(D) The letter is one which Sohan wrote.
| have a lot of work ............... :

(Choose the correct option)

(A) at times (B) to attend to
(C) at any rate (D) at best
What is he angry ............... ?

(Choose the correct preposition)

(A) about (B) by
(C)in (D) of
Choose the correctly spelt word :

(A) Comit (B) Commit
(C) Cummit (D) Camit
Choose the correct synonym of ‘Quick’ :

(A) Rapid (B) Rarely
(C) Endless (D) Submit
Give one word substitution for :

‘Science of the life of animals’

(A) Botany (B) Biology
(C) Geology (D) Zoology
No news ............... good news.

(Choose the correct option)

(A) is (B) are



15.

16.

17.

18.

19.

(C) was (D) were
He has been appointed on a temporary basis.
(Choose the correct antonym of the underlined word)
(A) permanent (B) guess
(C) complicated (D) soak
She said, “l do not like this.”

(Choose the correct indirect narration)

(A) She said that she did not like that.

(B) She says that she doesn't like this.

(C) She says that she must not like it.

(D) She told that she don't like it.

Choose the correctly spelt word :

(A) Tootheche (B) Tootach
(C) Toothache (D) Tuthache
Anassis ............... dull animal.

(Choose the correct option)

(A) a (B) the
(C) an (D) no article
All the books on that shelf ............... to me.

(Choose the correct option)
(A) belong (B) belonging

(C) belongs (D) belonged



20.

21.

22.

23.

24,

Choose the correct sentence :

(A) | accept to that offer.

(B) | accept that offer.

(C) I accepting offer.

(D) I accept offered.

Please ............... my proposal once again.

(Choose the correct phrase)

(A) think over (B) take in
(C) tell upon (D) take off
He is sympathetic ............... the poor.

(Choose the correct option)

(A) on (B) for
(C) to (D) through
He ............... go there regularly.

(Choose the correct auxiliary verb)

(A) used to (B) should to
(C) need to (D) could to
His work satisfied me.

(Choose the correct passive voice)

(A) | was satisfied with his work.

(B) | was satisfied by his work.

(C) I am satisfied on his work.



25.

26.

27.

28.

29.

30.

(D) I am satisfied by his work.

He was leaning ............... a wall.

(Choose the correct preposition)

(A) by (B) for
(C)in (D) against
i heard the remark.

(Choose the best option)

(A) myself (B) himself
(C) herself (D) itself
All depends on his ............... the examination.

(Choose the correct option)

(A) pass (B) to pass
(C) passed (D) passing
Let us now play, ............... ?

(Choose the correct option)

(A) shall we (B) shouldn’t we
(C) shalln’t we (D) won’t we
Which is the shortest ............... to Agra ?

(Choose the correct option)

(A) root (B) rooted
(C) rout (D) route
There ............... been a steep rise in prices ?

(Choose the correct option)



31.

32.

33.

34.

35.

(A) is (B) have

(C) has (D) are

One of the boys inthe camp ............... fallen ill.
(Choose the correct option)

(A) is (B) have

(C) has (D) are

She tried every plan.

(Choose the correct negative sentence)

(A) She left no plan untried.

(B) Plan was not any left by her.

(C) She tried not every plan.

(D) Tried not any plan that she not.

He came here ...............

(Choose the correct option)

(A) recent (B) recently
(C) in recent (D) on recent
Choose the incorrect sentence :

A) He belongs from Bihar.

B) Mohan teaches biology.

C) We reach school at 10 am.

~ o~ o~ o~

D) Ten miles is a long distance.
Sugar ............... in water.

(Choose the correct option)

(A) dissolve (B) had dissolve



36.

37.

38.

39.

40.

(C) dissolves (D) will dissolving

Choose the correctly spelt word :

(A) Appearance (B) Apurance
(C) Apearence (D) Apierance
The purse was full ............... money.

(Choose the correct preposition)

(A) at (B) of

(C) by (D) in

She was late. She could not catch the train.

Choose the correct combination)

A) Since she was late, she could not catch the train.

(
(
(B) The train not get caught because she was late.
(C) Late was she so she could not caught the train.
(

D) She is getting late so she was not catching the train.

Raja said, “l am hungry.”

(Choose the correct indirect speech)

(A) He was hungry was said by Raja.

(B) Raja said that | was hungry.

(C) Raja said that he was hungry.

(D) Raja said that he may be hungry.
............... he come today ?

(Choose the correct option)

(A) Ought (B) Must
(C) Might (D) Will



41.

42.

43.

44.

45.

46.

| have never ............... to Agra to visit the Taj Mahal.

(Choose the correct option)

(A) be (B) had been
(C) being (D) been
She returnedtothe ............... of the accident.

(Choose the correct option)

(A) seen (B) sign
(C) scene (D) sin
Choose the correct sentence :

(A) The poors are hated everywhere.
(B) The poor are hated everywhere.
(C) Poor are hated everywhere.

(

D) The poor is hated everywhere.

| think she spent the entire afternoon ............... the phone.

(Choose the correct preposition)

(A)in (B) on
(C) at (D) for
He fell and was taken to ............... hospital.

(Choose the correct article)

(A) a (B) the

(C) an (D) no article
Choose the correctly spelt word.

(A) Occasion (B) Occation

(C) Occassion (D) Ocasion
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47.

48.

49.

50.

51.

52.

It is being read by us.
(Choose the correct active voice)

(A) It will be read by us.

(B) We can read it.

(C) We have to read it.

(D) We are reading it.

Incapable of being seeniis ...............
(Choose the correct option)

(A) invisible (B) illegal
(C) inaudible (D) eligible
The synonym of ‘Peace’ is ...............

(A) Rapid (B) Quiet
(C) Journey (D) Restore
Cakes are made by her every Sunday.
(Choose the correct active voice)

(A) Every Sunday cakes made by her.

(B) She makes cakes every Sunday.

(C) Cakes make by her every Sunday.

(D) Cakes were made by her every Sunday.

The antonym of ‘Military’ is ...............

(A) Coup (B) Civil
(C) Civility (D) Militant
As ...l me, | will be happy to lend a hand.

(Choose the correct preposition)
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53.

54.

99.

56.

o7.

58.

(A)in (B) about
(C) for (D) of
i your offer.

(Choose the correct preposition)

(A) except (B) accept
(C) excess (D) adopt
Will you give me ............... sugar ?

(Choose the correct option)

(A) any (B) many
(C) some (D) much
| have nothing ............... to say.

(A) farther (B) father
(C) further (D) either

Choose the odd one out :

(A) Uncle (B) Brother
(C) Nephew (D) Niece
He hopes tojoin ............... university soon.

(Choose the correct article)

(A) a (B) the
(C) an (D) no article
Japanis alsocalled ............... of the Rising Sun.

(Choose the correct option)
(A) Land (B) Country
(C) Town (D) Village
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59. ...l you got any money ?

(Choose the correct option)

(A) Has (B) Have
(C) Gotten (D) Is

60. Who can preventme ............... doing this ?
(A) from (B) with
(C) of (D) about

Instruction : Questions from 61 to 100 are based on the prescribed
texts.

61. ‘Some of the immediate and brilliant results of modern inventions are
too maddening to resist’ is from :

(A) The Earth (B) A Child is Born
(C) I Have a Dream (D) Indian Civilization and Culture
62. ‘I can only assure you that | enter this office in a spirit of prayerful

humility and total dedication’ is from :
(A) Bharat is My Home (B) The Earth
(C) A Child is Born (D) The Artist
63. Nanukaka was coming to Delhito ...............
(A) visit his sister (B) visit the hospital
(C) meet his nephew (D) see a Minister

64. The condition of the Negroes was ...............

(A) appalling (B) refreshing
(C) comforting (D) happy

65. The............... must have made life much pleasanter and more
secure.

(A) eating habits (B) taming of domestic animals
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66.

67.

68.

69.

70.

71.

72.

(C) killing people (D) education

‘As soon as he woke the next morning, he would open the tin and
examine the gourd’ is from : (Choose the correct option)

(A) The Earth (B) How Free is the Press
(C) A Marriage Proposal (D) The Artist
‘In many traditional societies, the relationship between ............... is

more important than that between husband and wife ...............
(A) daughter and daughter-in-law (B) mother and father

(C) mother and child (D) uncle and father

The second chief source of a newspaper’s revenue is the ...............
(A) government (B) wealth of the owner

(C) politicians (D) policies

‘For the next four or five years Benzy went on creating more houses for
more hens’ if from:

(A) The Earth (B) A Marriage Proposal
(C) A Child is Born (D) How Free is the Press

Indians are by nature ...............

(A) stupid (B) religious
(C) timid (D) jealous
Lomovisa............... of Stepan Choobookov.
(A) brother (B) neighbour
(C) uncle (D) grandfather

Lomov wants to marry ...............
(A) Jessica (B) Susan
(C) Florence (D) Natalia
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73.

74.

75.

76.

77.

78.

79.

H. E. Bates worked for sometimeasa ...............

(A) doctor (B) journalist

(C) singer (D) actor

In Bangladesh, ............... is a kind of fairy tale.

(A) Tupthoka (B) Canthoka

(C) Jupthoka (D) Rupthoka

Which state does Martin Luther King, Jr. want to see as a developed
state ?

(A) Alaska (B) Texas

(C) Alabama (D) Chicago

‘O how feeble is man’s power’ is from :
(A) Sweetest Love, | Do Not Goe

(B) Fire-Hymn

(C) Snake

(D) Song of Myself

Who decided to kill the snake ?

(A) The poet’s father (B) The poet himself
(C) The poet’s friend (D) The poet’s brother
‘| celebrate myself and sing myself,

And what | assume you shall assume’ —is from :

(A) To Autumn (B) Fire-Hymn

(C) Song of Myself (D) Snake

Starving through the leafless wood

............... run scolding for their food.

(A) trolls (B) girls
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80.

81.

82.

83.

84.

85.

86.

87.

(C) fairies (D) boys

‘Season of mists and mellow fruitfulness’ — is from :
(A) Snake (B) Ode to Autumn
(C) Fire-Hymn (D) An Epitaph
Who wrote ‘Songs for Children’ ?

(A) Walter de la Mare (B) George Herbert

(C) John Donne (D) William Wordsworth

‘That there’s some corner of a foreign field
That is for ever ............... ’

(A) Ireland (B) America
(C) England (D) Australia

‘His brow is deeply lined with thoughts, his head is highly domed’

............... who is the poet describing ?

(A) Freddy (B) Macavity

(C) John (D) Harry

The nearest ............... was a thousand miles.

(A) park (B) school

(C) hotel (D) Tower of Silence

‘He lifted his head from his drinking, as cattle do’ is from
(A) Snake (B) Fire-Hymn

(C) Ode to Autumn (D) An Epitaph

‘Only Saint Knows How to Sing’ has been composed by
(A) T. S. Eliot (B) Kamala Das

(C) D. H. Lawrence (D) K. N. Daruwala
The poetess begs for ............... from everybody.
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88.

89.

90.

91.

92.

93.

94.

(A) love

(C) food

Who was in awe of the snake ?
(A) the poet

(C) the neighbours

............... is the master-criminal.
(A) Rodriques

(C) Macavity

Rupert Brooke died of ...............
(A) heart failure

(C) brain haemorrhage

English belongs to the ancient .....

(A) Indo-Pakistani
(C) Indo-Australian

(B) shelter

(D) respect

(B) the family

(D) the colleagues

(B) Rodger
(D) Mathew

(B) septicaemia

(D) kidney failure

.......... family of languages.

(B) American-Indian

(D) Indo-European

From 1150 onwards English began to emerge as a language of

(A) dance

(C) music

After the Norman Conquest, ........

(B) literature
(D) painting

....... became the language of the

King’s court, governance and education.

(A) French

(C) Latin

Who wrote ‘Piers the Plowman’ ?
(A) Chaucer

(C) Gower
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(D) Scandinavian

(B) Langland
(D) Wyclif



95. Who wrote ‘King Lear’ ?
(A) William Shakespeare (B) Francis Bacon
(C) Edmund Spenser (D) Ben Jonson

96. English is used as a second language in ...............

(A) Saudi Arabia (B) France
(C) Iraq (D) India
97. Today ............... English is recognized as ‘world language’.
(A) American (B) Scandinavian
(C) French (D) Latin

98. ‘Paradise Lost’isal/an ...............
(A) epic (B) monologue
(C) ode (D) satire

99. R.N. Tagore wrote ...............

(A) Lamia (B) Macbeth
(C) Savitri (D) Geetanjali
100. The expression ‘Himalayan blunder’ is frequently used in ...............
English.
(A) British (B) American
(C) Indian (D) Nigerian

SECTION -B

(Descriptive Type Questions)

1.  Write an essay on any one of the following in about 150-200 words :

1x8=8
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(A) Use of Internet

(B) International Yoga Day

(C) An Indian Festival

(D) An Apple a Day Keeps the Doctor Away

(E) Summer Vacation

Explain any one of the following: [1x4=4]
(A)  Our civilization, our culture, our Swaraj depend not upon

(B)

(B)

(C)

multiplying our wants - self-indulgence, but upon restricting wants
- self denial.
She went into squeals of delight over the kitten and made a lot of

fuss over Nanukaka.

(C) We have also become, in certain aspects, progressively less like
animals.
(D) ‘The voices of a few women raised in warning cannot be heard
over the humming and throbbing of our machines, ....."’
. Explain any one of the following: [1x4=4]
(A) He’s the bafflement of Scotland yard, the Flying Squad’s despair:

For when they reach the scene of crime — Macavity’s not there !
And voices in me said, If you were a man
You would take a stick and break him now, and finish him off.

| think she was the most beautiful lady
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That ever was in the West Country.
(5 | who have lost
My way and beg now at stranger’s doors to
Receive love, at least in small change ?
4. Write a letter to your younger cousin asking him to take precautions

during this pandemic. [5]
OR

Write a letter to your Health Minister asking him for relief aids to home

quarantined Covid-19 patients in your locality.
5.  Answer any five of the following in about 40-50 words :  [5x2=10]

(A)  Why did the poet consider it ‘a king in exile’ ?

(B) Is the soldier afraid of death ?

(C) In what sense does the fire forget its dead ?

(D) Why did the Indians always blame the British for their suffering ?

(E) What information did Sanders give that made the Johnsons
happy ?

(F) What is the immediate impact of poverty in the medical field ?

(G) What is parallelism ?

(H) What were the major concerns of the early poets writing in

English ?
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() Why are the Indians quick learners of English ?

(J)  Name the two major influences on Old English.
6. Answer any three of the following in about 100-120 words: [3x5=15]
(A) Write the summary of any one of the following poems:-
(i) Now the Leaves are Falling Fast
(i) Fire-Hymn
(iii) Macavity : The Mystery Cat
(B) Write the summary of any one of the following prose-pieces:-
i) | Have a Dream
ii) The Earth
iii) India Through a Traveller’s Eyes.

(C) Write a note on the importance of English as a second language in

India.
OR
Write a note on Old English ?

OR

Write a note on India English Poetry ?
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(D) Match the name of the poets given in List-A with their works in List-B.

List A ListB
a) Walter de la Mare i) Snake
b) T. S. Eliot ii) Ode to Autumn
c) John Keats iif) Song of Myself
d) Walt Whitman iv) Macavity : The Mystery Cat
e) D. H. Lawrence v) An Epitaph

(E) Translate any five into English:

(i) T9 B9 GOITHIYR STRANT ?
(i) <™ Us Hedr faemefl 2
(i) =T PI AW IZJ UEG ¢ |

(iv) S 39 BT 9gd UieT |

(vV) &= #eH H 38 = o |
(vi) w1 H TWR BR o Hhl § ?
(vii) @I BT R 98T GX B |

(viii) H Pl IR ST |
(F) Match the name of the authors given in List-A with their works in
List-B

List A List B
a) Dr. Zakir Hussain ii) The Artist
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b) Shiga Naoya i) Ideas That Have Helped Mankind

c) Bertrand Russell iv) The Earth
d) H. E. Bates v) Bharat is My Home
(e) Anton Chekov vi) A Marriage Proposal
7. Read the passage and answer the questions that follow :- [4]

Nature is made of everything we see around us — trees, flowers,
plants, animals, mountains, forests and more. Human beings depend
on nature to stay alive. Nature helps us breathe, gives us food, water,
shelter, medicines and clothes. Human should stop causing harm to
the elements of nature for their needs. Nature is very important to
maintain the growth and balance of life on earth.

Questions:-

i) What is nature made up of ?
i)  What does nature give us ?
i)  What should the humans stop doing ?
iv)  Make sentences with : Nature, Growth.
OR
Write a précis of the following passage and give a suitable title :
Newspapers are printed in several language. They are delivered to the
doorstep of individuals early in the morning. The readers get

acquainted with the happenings around the world through newspapers.
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In this generation of increased connectivity, newspapers, both in print
and digital media, act as a medium of information transfer. They

increase awareness and help bring the world closer.
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